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Question Paper Specific Instruction

Please read each of the following instructions carefully before attempting questions :
Thereare TWENTY-FIVE questions printed both in HINDI and in ENGLISH

All the questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the answer book must be clearly struck off.
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Answer the questions in NOT MORE THAN 150 words each. Contents of the answer is more
important than its length. All questions carry equal marks. 10x 25=250

QL.

Q2.

Q3.

Q4.

Qb.

Rig a1l IR & TRY AReH AR WRid T fh dm 9 adae gilie TR B
(g79e) ye fdu & ? ==l BTy |

To what extent has the urban planning and culture of the Indus Valley Civilization

provided inputs to the present day urbanization? Discuss. 10
MR AfcTdwel JMAFERIAT S Ia-1 &1 ol o {7 & a8 Famirl @1 o | W S |

Gandhara scul pture owed as much to the Romans as to the Greeks. Explain. 10

qafRren favafdenery favg @ wrd=aq fowafdereal & 9 e on e wrr fafve fRreror—fawat
((fafte=a) @ oma faea g afta TRt o | 9@ IMIfae AR & SR IFdT Bifd
hell, offdhd e & I, S9 Mygfie i & favafdener T8 |9 i | ==t Hifoig |

Taxila university was one of the oldest universities of the world with which were
associated a number of renowned learned personalities of different disciplines. Its
strategic location caused its fame to flourish, but unlike Nalanda, it is not considered as a

university in the modern sense. Discuss. 10

IO BT AERT g 1761 W ST AT AT | RIT HROT & fob S+l 31f¥h AHrI—Ydul dergdl uriud
# ol T o ?

The third battle of Panipat was fought in 1761. Why were so many empire-shaking
battles fought at Panipat ? 10

! AR AP Bwaral g gov (Fa) B/ g Jarel & aifife f[Jart iR >l &1 ar
SD! qTEl WRAAT Pl GATG AHT T wUART B H e 7 | fewoft S |
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Sufis and medieval mystic saints failed to modify either the religious ideas and practices
or the outward structure of Hindu / Muslim societies to any appreciable extent. Comment.
10

YRT § IfoREdl IS & F W WaIdl db el @l onfdie Nfowi & At uel @
THTATIATHD YRIETOT DIV |

Examine critically the various facets of economic policies of the British in India from

mid-eighteenth century till independence. 10

T gl @ AN Agie 9Ra o SRS @Y Siufdfire de<armiemsi & ra—ufedr § ol sifom
DicT AT gafr o ?

In what ways did the naval mutiny prove to be the last nail in the coffin of British

colonial aspirationsin India? 10

faeg & gfecqd s =& AoHIe, e iR AHIfored TR 1 9Rd H Sulae—aRE
FA—prarfge) ey o URT far ?

What were the major political, economic and social developments in the world which

motivated the anti-colonial strugglein India? 10

1956 ¥ Wl Fbe Bl Ual H diell geAd @7 off ? Sud Ush fazg wfe @ wu ¥ f3eT &
IMH—B[T R 9 yaR Iifad uer fhar ?

What were the events that led to the Suez Crisisin 1956? How did it deal afinal blow to

Britain's self-image as aworld power ? 10

A @1 79 enfdfe Mifd — 1921 1 w@dFar & ¥ UTEN YR gRT I7UATS T8 Al dI gwHIfad
o o | gt BTy |

The New Economic Policy — 1921 of Lenin had influenced the policies adopted by India

soon after independence. Evaluate. 10

ARA H U HH—aI BIHBTON ARl I JdReAT Bl [Ugas (Ulgsres]) fbd UeR ywiidd $-ar 8?
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How does patriarchy impact the position of amiddle class working woman in India? 10
R BRI & b IR & HB JANS Aqg U9l 7 Afeamsi & foau ufdesd SEN—goy srgurd 27 a1
TP T BV |

Why do some of the most prosperous regions of India have an adverse sex ratio for

woman ? Give your arguments. 10

HYH IRAR BT Sl b AT i & IOl MM FRDI R AR Fa1 € | F=f S |

The life cycle of a joint family depends on economic factors rather than social values.

Discuss. 10

W fafrs onfdfe &k wrfe—wivafas gai W @t HIvig, St wRa § B & ged gU Al
B URT R T B

Discuss the various economic and socio-cultural forces that are driving increasing

feminization of agriculturein India. 10

ARSI TR YR die—fdare, uf¥=® ¥ dre—fdarel 9 f&d yor = € °?

How do the Indian debates on secularism differ from the debates in the West ? 10

IATHRI STIarId] gedel # 9 JIfIHbiel Ta—--l J97d & IRUME & dk IR W &I ol 8| &l
MY FEHd & ?

Most of the unusual climatic happenings are explained as an outcome of the EI-Nino

effect. Do you agree ? 10

T BRI & fb IR &1 aferd udd (Bless AS<H) dF ARG & HHal & A—aref raRerd 8 ?

gferd uddl & aRde ARl iR YHul vd SaramRadl & 4 dee’d Bl IONR ST |

Why are the world's fold mountain systems located along the margins of continents?
Bring out the association between the globa distribution of Fold Mountains and the

earthquakes and vol canoes. 10

FSRMTE @R fhferdi i glusel # eaRi i & faveR @ e I |
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Explain the formation of thousands of islands in Indonesian and Philippines archipel agos.
10

SuThfedd I ahara sifdeierd: el D9 AR, T B Wl iR AfRIeT B Wl da B
gRAAT 8 g1 v & ' ?

Tropical cyclones are largely confined to South China Sea, Bay of Bengal and Gulf of
Mexico. Why? 10

WRA SU—HElgY H "cdl g% fedrerdl feadfedl (ei¥iasd) iR Sierarg uRads & et & &

A SOIR HITU |

Bring out the relationship between the shrinking Himalayan glaciers and the symptoms of

climate change in the Indian sub-continent. 10

SEfeh U IETH—ATfoTdl = I I feamraed uewr dd Rarfee ydadren ik = Rarea &
QI a1g 9T fawfia fe o, aRomd # 9 <Ififei & | arer 9% 81 87| T BHIFT |

Whereas the British planters had devel oped tea gardens all along the Shivaliks and L esser
Himalayas from Assam to Himachal Pradesh, in effect they did not succeed beyond the
Darjeeling area. Explain. 10

T HRU © & 9RT H RA Hifd gdl ueer 4 IRS JaT 3R T 1 IfSAT U & da9g,
IAferad § S 99 PR AN e T8 ?

Why did the Green Revolution in India virtually by-pass the eastern region despite fertile

soil and good availability of water ? 10

faeg ¥ g U9 s ST @ e ufowy § gRads &1 faaver S |

Account for the change in the spatial pattern of the Iron and Steel industry in the world.
10

DI JATARAD Heglh DIFTU |
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Critically evaluate the various resources of the oceans which can be harnessed to meet the

resource crisisin the world. 10

SHRA TP HEE THG STBIBT & SMYd &3 H AR AUAT 9T W Q@ & ?

How does India see its place in the economic space of rising natural resource rich Africa?
10



